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QUESTION 1

Oracle Event Hub Cloud Service is supported by many of the Oracle Cloud platforms. Which two are options of where
you can deploy Event Hub Cloud Service (Apache Kafka)? 

A. in Oracle Public Cloud Data centers 

B. in Azure data centers 

C. in Rackspace data centers 

D. in AWS or Azure data centers 

E. in the Customer\\'s on-premises data centers 

Correct Answer: AE 

Reference: https://cloud.oracle.com/en_US/event-hub/features 

 

QUESTION 2

Big Data Cloud provides you the agility to rapidly and securely build, deploy, and grow your big data platform. It can
easily scale to your varying workload demand. Which statement is NOT true regrading Oracle Big Data Cloud\\'s feature
in agility? 

A. You must scale Compute nodes and Storage nodes together at the same time. 

B. You can elastically scale only Storage nodes. 

C. You can scale Compute nodes and Storage nodes independently. 

D. You can elastically scale only Compute nodes. 

Correct Answer: A 

 

QUESTION 3

During provisioning, which can you create in order to integrate Big Data Cloud with Other Oracle PaaS services? 

A. Attachments 

B. Associations 

C. Couplings 

D. Data Pipelines 

Correct Answer: B 
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QUESTION 4

Which is NOT a characteristic of an edge node in Big Data Cloud Service? 

A. You can remove an edge node once it is part of a cluster. 

B. You have full use of Cloudera Enterprise Data Hub Software. 

C. You may store data in the Data Nodes. 

D. Each node has 48 TB of storage. 

Correct Answer: A 

 

QUESTION 5

You are a Spark developer using Spark RDDs for data processing. You realize Resilient Distributed Data Sets (RDDs)
are evaluated lazily. 

Which function do you need to execute to materialize RDDs? 

A. Coalesce () 

B. ReduceByKey () 

C. Filter () 

D. CountByKey () 

E. Map () 

Correct Answer: D 

 

QUESTION 6

Which can you add more of to scale an Event Hub Cloud Service Topic? 

A. Zookeeper nodes 

B. Kafka brokers 

C. Partitions 

D. Big data nodes 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/event-hub-cloud/admin-guide/scaling-topic.html 

 

QUESTION 7
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Which function is NOT a part of Kerberos? 

A. Kerberos offers Strong Authentication features. 

B. Kerberos authorizes SQL Access for Hive and Impala. 

C. Kerberos builds on symmetric key cryptography and requires a trusted third party. 

D. Kerberos works on the basis of tickets. 

Correct Answer: B 

 

QUESTION 8

Which Oracle Cloud component allows you to create, delete, and manage multiple Oracle cloud resources/ services
together as a unit? 

A. Stack Manager 

B. CLI interface 

C. Administrator Console 

D. Single REST API Call 

Correct Answer: A 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-compute-cloud/csspc/create-cluster-oraclecloud-stack.html 

 

QUESTION 9

What is the default cluster console administrator user created in Oracle Big Data Cloud to manage Jobs, Notebooks and
data Stores and Setting? 

A. cli_admin 

B. bdcsce_admin 

C. administrator 

D. admin 

Correct Answer: D 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-compute-cloud/csspc/using-oracle-big-datacloud.pdf 

 

QUESTION 10

When you create a cluster with Security Setup enabled, HDFS Transparent Encryption is enabled on the cluster, and
MIT Kerberos, Sentry, Network Firewall, Network Encryption, and Auditing are also enabled on the cluster. 
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Which two principals are created as part of the Kerberos configuration? 

A. hdfs/clustername@BDACLOUDSERVICE.ORACLE.COM 

B. oracle/clustername@BDCSCLOUDSERVICE.ORACLE.COM 

C. oracle/clustername@BDACLOUDSERVICE.ORACLE.COM 

D. hdfs/clustername@BDCSCLOUDSERVICE.ORACLE.COM 

Correct Answer: AC 

Reference: https://docs.oracle.com/cloud-machine/latest/bigdatacm/CSBDM/GUID-16649C5A-2C884E75-809A-
BBF8DE250EA3.htm#CSBDM-GUID-16649C5A-2C88-4E75-809A-BBF8DE250EA3 
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